T Ri28(2016) 5 B KEHET RAKDKE OKERKBBER)

[EEE7 Py [EEE7 Py [EEEIr e

19 - 501 (UL 19 - 501 |LFIE 19 - 502 |LEE

gt b 3 TR 49K B 1 3 gt b 3 TR 49K B 1 3 gt 3R 3 TR 49K T 1 3

[%KZE] 01 - 00 [%KiZE] 02 - 00 [%KZE] 01 - 00

K%K BINEKE O %Kiz

BEIER KiE&] KiE&] KiE&]

KA L (EHEERK) |INA L (TR K) Z)IFL

[FRknDiEE] [FRknDiEE] [FRknDiEE]

PINEE: CIN; i CIN; ik

(1 BE¥%KE] 9,109 (m) |[1BF9%KE] 13,539 (m) |[1 B F5%KE] 16,920 (m)

Rk Rk Rk

= =K Ty E1%k == =K Ty E1%k 1) &I Ty E1%k

TUFEVRUEDIEEY <0.0010  <0.0010  <0.0010 2 <0.0010  <0.0010  <0.0010 2 <0.0010 1
5V RUEDIEEY <0.0002  <0.0002  <0.0002 2 <0.0002  <0.0002  <0.0002 2 <0.0002 1
ZITWRUZDIEEY <0.001 <0.001 <0.001 2 <0.001 <0.001 <0.001 2 <0.001 1
1,2—9bOnIsy <0.0002  <0.0002  <0.0002 2 <0.0002  <0.0002  <0.0002 2 <0.0002 1
LIV <0.001 <0.001 <0.001 2 <0.001 <0.001 <0.001 2 <0.001 1
TRINEEY 2—IFIAFIIL) <0005  <0.005 <0.005 2 <0005  <0.005 <0.005 2 <0.005 1
iR
ZEibiE R
yhnaye k=L
k05—
HBiER
it 735 38 <10 19 2 27 26 27 2 13 1
1,1,1—kJoonIsY <0.001 <0.001 <0.001 2 <0.001 <0.001 <0.001 2 <0.001 1
AFI—t—TFII—FI(MTBE) <0.001 <0.001 <0.001 2 <0.001 <0.001 <0.001 2 <0.001 1
BRMEGRIVI VBN LEER) 5.0 3.1 4.1 2 32 2.2 2.7 2 3.1 1
R5GAE (TON) 10 <1 5 12 3 1 2 2 1 1
EREGYTUTIEER) -1.1 -16 -1.4 2 -1.1 -1.4 -1.3 2 -18 1
HEREMAE
1,1—ybonIFlby <0.0002  <0.0002  <0.0002 2 <0.0002  <0.0002  <0.0002 2 <0.0002 1
Kig(°Cc) 20.7 42 13.2 12 19.6 29 12.8 12 18.3 1
TUEITREER <0.05 <0.05 <0.05 2 0.08 <0.05 <0.05 2 <0.05 1
EYLFRIEERERE(BOD) 1.2 0.6 0.9 2 0.6 <05 <05 2 1.3 1
LB R ERE(COD) 3.7 1.7 2.7 2 15 15 15 2 15 1
LA R (UV)IR S BE(50mm T2 )L {5 F B ) 0.193 0.142 0.168 2 0.116 0.095 0.106 2 0.075 1
FAEME(SS) 14 <1 7 2 1 <1 1 2 2 1
BRI REE 34 <1.0 1.7 2 2.3 2.3 2.3 2 12 1
LEHR 1.45 1.16 1.31 2 0.40 0.39 0.40 2 0.40 1
EDV 0.059 0.050 0.055 2 0.030 0015 0.023 2 0.006 1
VIBRAAY
RUNOAS D BRE
W) (n/ml) 5073.0 176.0 26245 2 1885.0 50.0 9675 2 400 1
FIVHVE
BEEFR
il S
BT




